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I. Answer the following. (2
1. Why was Crusoe frightened?
2. How did the king solve the problem of the women?
Il. Frame an interesting sentence with the following phrase. 1)
1. listen to —
I11. Write the opposites for the following words. (2)
1. discontinued X 3. never X
2. unreal X 4. large X
IV. Fill in the blanks with a correct pair of homophones that you have learnt. (1)
1. Father advised his not to play under the scorching
V. Match the word to its meaning. (@)
1. commanded a. a calf length laced shoes worn in olden days.
2. bitterly b. a firm command or instruction.
3. ordered C. causing pain, hard to bear.
4. buskins d. to give an order.
Answer: 1. 2. 3. 4,
V1. Fill in the blank with the correct Relative Pronoun from the box. 2

| whom | whose | that | which | who |
1. The man you just spoke to is my father.
2. This is the house my grandfather built.
3. This is the town in I spent my childhood.

4. 1 met a man had just returned from America.



VI1. Rewrite the following sentences into Indirect Speech. (6)

1. Radha said, “I am very busy.”

2. He said, “I am unwell.”

3. Sunil said to me, "I have been to Gujarat”.
4.

He said to his mother. “I will pass the test”.

VI11. Read the passage carefully and answer the questions. (Total Marks —4)

Bentley was wandering through the trees. The air smelt of oranges all around him. The weather was
perfect and the oranges were growing bigger by the day. He liked to walk through the groves and
loved the smell of the oranges but he didn’t like that he and his family ate oranges all the time.
Sometimes, he wanted to avoid them for weeks at a time.

He wished his family could grow other things like corn or the ingredients for his favorite dip that
his mom made. His mouth watered just thinking about his favorite dip. Yes, those ingredients
would be better than oranges all the time. “Mom, why do we have to have oranges almost every
day?” Bentley asked. “Well, since we grow them, there are plenty around,” his mom replied, “Does
every kid eat as many oranges as we do?” he asked. “No, definitely not. There are parts of the
country and parts of the world that don’t have the type of weather that oranges grow in. We’re
actually very lucky!” “So some kids don’t eat oranges at all?” “We actually send oranges all over so
that if people can’t grow their own oranges they can still buy and eat them,” said Mom. Hmmm...
so people move foods all over the world.

The factories that make your favourite toys are not all in our little town here. The companies make
the toys then send the toys to other places. So food and products move from where they can be
grown or made easily to places where they can’t be grown or made easily. “Wow! I never thought
about where all of our food and toys come from or about people moving far away. It’s very
interesting,” Bentley said. “It sure is. I'm glad you asked. I’m sorry you get tired of eating oranges
all the time but I hope now it makes sense why we do.”

“Yes, but I still might take a break from them every once in a while. Maybe I’ll try to grow my own
artichokes!” Bentley replied. Mom laughed and said, “Sure, honey. Now let’s go make dinner.”

1. What didn’t Bentley like to eat? (1x1)
2. Choose a synonym from the passage for the word “roaming”. (1x1)
3. Choose the correct answer.

(1) Bentley’s family wanted to grow other vegetables like . (4 x %)

a) tomatoes b) potatoes C) corn

(i) Does every kid eat as many oranges as Bentley?

a) yes b) may be C) no
(iii) In the above passage, food factory is compared with factory.
a) textile b) automobiles c) toy

(iv) Bentley was wandering through .
a) the forest b) desert c) the trees



